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© F—F HEHE : (Answer)

1| df.info(): .
<class 'pandas.core.frame.DataFrame'> df.isnull () * sum( ) :
Index: 270@ entries, 1 to 27@@
Data columns (total 8 columns):
#  Column Non-Null Count Dtype reg ion (%]
o 7”:” R ”7_” population (5]
@ region 2700 non-null  object
1 population 2700 non-null inte4 sex (5]
2 sex 2760 non-null  object age 1
3 age 2699 non-null  floate4 .
4  education 2689 non-null object education 11
5  income 2602 non-null  floatés4 income 98
6 statusquo 2683 non-null fltjoats4 StatUSQUO 17
7 vote 2532 non-null  object
dtypes: float64(3), int64(1), object(4) vote 168
memory usage: 189.8+ KB dtype: int64
None
2 df.head():
' region population sex age education income statusquo vote
1 N 1l75eee M 65.0 P 35eee.e 1.00820 Y
2 N 1l75eee M 29.9 PS 7500.0e -1.29617 N
3 N 1l75eee F 38.8@ P 15eee.e 1.23072 Y
4 N 175eee F 49.0 P 35eee.e -1.@3163 N
5 N 175eee F 23.0 S 35e00.e -1.10496 N
df.tail():
region population sex age education income statusquo vote
2696 M 15000 M 42.0 P 15eee.o -1.26247 N
2697 M 15000 F 28.0 P 15eee.@ 1.32950 Y
2698 M 15000 F 44.0 P 75eee.o 1.42045 Y
2699 M 15008 M 21.@ S 75eee.o @.18315 NaN
2700 M 15008 M 2.0 PS 35@eee.e 1.381792 Y
df.shape:
2700
df.dtypes:
(2700, 8)
df.dtypes:
region object
population intea
sex object
age floates
education object
income floatead
statusquo floatea
vote object
dtype: object
3. 2431
4 p—
' Index(['region', 'population', 'sex', 'age', 'education', 'income', ‘'vote'], dtype='object')




(1H3S) Python BALIF4ERI(F : Deepnote EXHFAMER (& HETABME)
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5|/ df3.age.mean():
38.54872174879585
df3.income.mean():
33875.864719446574
df3.statusquo.mean():
-1.118151323183794e-08
df3.education.mode()[@]:
S
df3.vote.mode()[@]:

N

df3.to_csv('Chile_clean_data.csv', index=False)
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© ZEIE HEjTéRE : (Answer)

69.91%
0.93
1 A RERM EFA 08 ~ (A (855 4.3)
H7EE H¥- W 2EWRE  Cronbach’s
fafie  2NE BEE a
(%) (%)
AEHEE ] 69.91 69.91 929
CO1#H 81
CO2EH .79
CO3FiH 80
CO4FH 90
Cos5 A .86
CO6HEH 81
B 69.91 929

4 | AVE=0.69
LSYEZ I

DoF DoF Baseline chi2 chi2 p-value «chi2 Baseline CFI \
Value 9 15 26.537058 0.001668 1600.568919 ©.98894
GFI AGFI NFI TLI RMSEA AIC BIC \

Value ©.98342 ©.972367 ©.98342 0.981566 0.874297 23.850073 70.281636

LoglLik
Value ©.074963

CR=0.93
=2 EEE SRR CFA 0% - (SRR (25 4.6)

SRR E| TARE CR AVE

EEER 93 69
COo1EH .80
Co28H 79
CO 3 iEH .80
CO 4 fEH 91
COSHEH 87
CO6fHH 81 93 69

*3 EEGSRREGUSICERER (45 46)

EHEREER EEEECEER METEIEEE
12 GFI AGFI RMSEA NFI TLI CFI j2/df AIC BIC
8 2654 098 097 007 098 098 099 295 2385 7028
(p=002)
ZE p=z 05 =90 =90 <08 =90 =90 =090 =5 I i
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1 - Variable object Qutcome int64 Count int64 Percent float64
) 857% 1-7 1-186 0.28 - 52.54
sportday 7%
faedu 1% _H_HE_ - H Hanll = [ ]
0  sportday 5 174 49.15
1 6 102 28.81
2 7 60 16.95
3 4 9 2.54
4 1 5 1.41
5 2 3 0.85
6 3 1 0.28
7 | faedu 3 186 52.54
8 2 64 18.08
9 5 47 13.28
2. bornyr float64 sportyr float64 sporthr float64
cou... 354 354 354
me... 97.86440678 4.807909605 10.20056497
std 2.674764836 2.781432698 8.276174871
min 93 0 1
25% 96 2 3
50% 98 5] 6
75% 100 7 15
max 104 14 42
3' = PI float64 FS float64 PS float64 CO float64
count 354 354 354 354
mean 4.32 4.09 4.44 4.16
std 0.83 1.01 0.84 0.88
4' ' ' ' 1 1 1 ' ' ] - '
Index(['PI', 'FS', 'PS', 'CO'], dtype='object')
S. Index(['no', 'edulevel', 'bornyr', 'sportyr', 'sporthr', 'sportday', 'faedu',
'momedu’, 'income', 'job', 'elite', 'PI1', 'PI2', 'PI3', 'FS1', 'FS2',
'"FS3', 'PS1', 'PS2', 'PS3', 'PS4', 'car_1', ‘'car_2', 'car_3', 'car_4',
'car_5', 'car_6'],
dtype='object")
6.
faedu_3
FIEREEdT_ 4D faeduBFEI R E: faedu
2 186
2 186
3 87
3 87
1 81 1 81
Name: count, dtype: inte4 Name: count, dtype: inte4
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TR t ke
HRT SR
#1 eGP SN SRR (8 6.1.3)
it iy el R SEESH e t
BEH = 325 2.15 0.68 2.84%
S 125 2.35 0.71
*p<.05
4 2 AFESGBBEEEHERENE R (8 6.1.4)
S T T M RS F gkl
R L BFLLE 133 2.20 0.72 1.65 -
2. B 222 2.16 0.69
3. KEDLE 95 231 0.66
5. .
#=3  AEIEE 2R RS ER (M 6.1.5)
g JERRT ey P RREE F EFEigteim
B 1. ks 83 2.06 0.62 2.33 -
2. thifigfE 270 2.23 0.70
3. 97 227 0.73
6. o
4 PEN - BOSIHE A iR ERI EE ST (8 6.1.5)
B HHE ¥ F p
1 (8S) (df) (MS)
PR 3.24 1 3.24 7.33*%  0.007
S &Y 1.76 2 0.88 2.00 0.137
PERI* A 0.55 2 0.28 0.35 0.536

*p<.05
TERR L B (2,79 £ 0.68) HURKELEVFRE St (2,57 £ 0.63)
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© FHRE HBHsE 2 (Answer)

1. KSR EMSIZE RO (835 6.2.1)

SR S HI% 1 HE 2 t
S+ B S + e

FCEE B 38 4.01 £0.58 4.22 £0.56 -2.29%

*p=<.05

2. 6 PR ERIN TR RS TR (1) (5 622)

Pty T P R F  Efkthf
LB 1 38 4.01 0.56 3.28% 3>1,2
LB 2 38 4.22 0.58

LB 3 38 431 0.68

*p<.05

RT PRI T I R ST R (2) (BE 6.2.2)
HEF9ZEF 50 (88) E]EE] i HTf F &b

(df) (MS)
ZHFS 1.79 2 0.89 3.28% 3>1,2
&1 20.14 74 0.27

*p<.05. L. pRCRENEEER LML 2. peaREhtREs 2 0. 3. platEhEET 3 M)

3 8 HEN ~ BRI B B SR (S 6.2.3)
4 T 1M FH2H 3
M=+SD M=+ SD M+ SD
el
ik 14 4.05=0.49 4.33+£0.59 4.43 £0.50
i 24 3.99 +0.60 4.15+0.57 424 +0.77
HIGE R 38 4.01 £0.56 422+0.58 431 +0.68

RO M BRI ST (2 6.2.3)

Ry Fill =fz:]E ¥R F  Ef&EbE
(8s) (df) (MS)
PRI 0.56 1 0.56 0.99
SHIER R 1.79 2 0.89 3.21% ns.
P+ B 0.09 2 0.05 0.17

*p<.05
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© BLE HETHE : (Answer)

L £7-3 SR BRI
1 2 3 4 5 6 7 8
LEEPEEY (edu) 1
2 EEA (SC) .09 1
33EEA (CC) -06  32% 1
48475 E A (FC) 03 33%  30% 1
5 REFE (FS) 01 63%  36%  .40% 1
6.7 21 (CS) A2% 0 AT® 12% 33% 63 1
TR L (PS) A1F 0 48%  20%  35% 0% [73% 1
SAEME (CO)  -13%  42%  31%  33%  47F  35%  42% 1
B *p<.05
2. #£2 [EERAITRENEENER (8H17.2)
B gl b SE B t p RY  Adi
= R
1 (E%) 1.27 0.27 475  .000 279 270
HEME (EF&E)
NER 0.33*  0.09 19 357 .000
B+ 0.12 0.09 07 131 .191
HEER 0.35%  0.06 34 589 .000
AEER 005 0.08 -04 -0.54 .388
&R 027%  0.07 27 412 .000
o *p<.05
3. 3 JREERHATRENIS e R (A 7.3)
Model 1 Model 2
b SE B b SE B
(EHO 127 0.27 0.76 0.28
HETEL (i)
INER 0.33% 0.09 19 0.35% 0.09 20
s 012 0.09 07 014 0.09 .08
HEEER 0.35% 0.06 33 0.18* 0.07 17
AEEAR -0.05 0.08 -04  -0.03 0.08 -.03
&R 0.27* 0.07 27 0.15*% 0.04 22
HRE Y 0.23* 0.07 17
BV A 0.09* 0.04 11
B = 0.09* 0.04 A1
F 30.70% 23.80%
R 279 326
Adj. R? 270 313
i *p<l05
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© FENAE HETsHE : (Answer)

fER 1343 B8Y - i U RERE BT B0 L SRR
HEELF (=049, § =.47,p<.05) HATEREAMENERPE - S 2 F
HE— PP R EE ST - SRR FE LY (b=042, § =.40,p<.05) BfAFEA (b
=0.14, 5 =.17,p<.05) ¥4 GEAILARE - MENNAM B A% K
SRR TERE B B ERE - EREEARE -

ek 2 S0 B Th Y R R B AR Y AR LR (D =0.50,
B=.40,p<.05) HUFHEAEEZAYIEEZE -

Graf LU 2 3R BAENRE RO EENETNEALREE
BB AT AL S A R R R - MR Sobel fYTE - 1FEIMRE
{HLF 3.21 (p<.05) HLRTYPRUERE - JRB » B e S i A T S AT
HAEEE AR T E -

®1 HEEENARRENERERER (#E81)

Model 1 Model 2
b SE Jii b SE B
(FH) 1.84* 1.56%
SEE 0.49%* 0.05 A7 0.42%* 0.05 40
MEES 0.14%* 0.04 17
F 114.50% 65.36%
R 223 247
Adj. R? 221 243

it *p<.05

®2 HERMUWE AN ERERER (#58.1)

Model 1
b SE B
(HED 1.98
FEE 0.50% 06 40
F 174.50%
R? 157
Adj. R? 154

HF i Fp<.05
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© FENAE HETsHE : (Answer)

2.

e 3 S8 SUECRY - BATERR A EHERUT  DUS IR GERENT - b
PR RE S SRR E R (b=-0.02, f=-13, p<.05) ¥ TiNEHEE
AEERE - BUR o SEREREHE  RIEETREER TR, i
B T REECR ) BB T AENE ) MBS RE TS - SR
B U AR ) BT ORISR - JREI - B S I - B R
FE SR o SR MEE S AEM AV L & 2 B A 55 -

R3 B RSEIBE R R (89 8.2)

Model
b SE i
(FED 3.92%
X 0.49* 0.05 A7
M -0.00 0.00 -.03
X*M -0.02* 0.01 -13
F 42.14%
R? 241
Adj. R? 235
HiEp<.05

© FNE HEEjsHE : (Answer)

# regression model

PER, EMO, ENG ~ SS

PER ~ EMO + ENG

# measurement model

SS =~ ss1 + ss2 + ss3

EMO =~ emol1l + emo2 + emo3
ENG =~ eng1 + eng2 + eng3
PER =~ per1 + per2 + per3
# residual correlation
EMO ~~ ENG
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2.

*1 SIS TR (8 9.1)

Ival op rval Estimate Est. Std Std. Err z-value p-value
PER ~ SS -0.040 -0.046 0.075 -0.542 0.588
PER ~ EMO 0.720 0.594 0.103 7.003 0.000
PER ~ ENG 0.461 0.368 0.087 5.308 0.000
EMO ~ SS 0472 0.658 0.047 10.082 0.000
ENG ~ 88 0.369 0.532 0.045 8.203 0.000
ssl ~ SS 1.000 0.880 - - -
552 ~ 88 0.941 0.865 0.048 19.789 0.000
583 ~ SS 0.993 0.883 0.049 20.409 0.000
emol ~ EMO 1.000 0.768 - - -
emo2 ~ EMO 1.068 0.810 0.078 13.678 0.000
emo3 ~ EMO 1.073 0.809 0.078 13.667 0.000
engl ~ ENG 1.000 0.813 - - -
eng? ~ ENG 1.001 0.759 0.080 12.521 0.000
eng3 ~ ENG 0.936 0.754 0.075 12.462 0.000
perl ~ PER 1.000 0.818 - - -
per2 ~ PER 1.001 0.827 0.064 15.653 0.000
per3 ~ PER 0.990 0.848 0.062 16.073 0.000
EMO e ENG -0.006 -0.043 0.007 -0.848 0.397
EMO e EMO 0.079 0.567 0.012 6.716 0.000
ENG e ENG 0.093 0.716 0.013 7227 0.000
PER e PER 0.088 0.429 0.013 6.632 0.000
8S e 88 0271 1.000 0.029 9.42 0.000
emol e emol 0.097 0.409 0.010 9.393 0.000
emo2 e emo2 0.083 0.343 0.010 §8.434 0.000
emo3 e emo3 0.084 0.345 0.010 §8.456 0.000
engl e engl 0.067 0.339 0.009 7.322 0.000
eng? e eng? 0.096 0.425 0.011 8.8 0.000
eng3 e eng3 0.087 0.432 0.010 8.904 0.000
perl e perl 0.101 0.330 0.011 8.846 0.000
per2 e per2 0.095 0316 0.011 8612 0.000
per3 e per3 0.078 0.280 0.010 7.927 0.000
ssl e ssl 0.079 0.225 0.010 §.083 0.000
552 e 582 0.080 0.251 0.009 §.661 0.000
583 e 583 0.076 0.221 0.009 7.977 0.000
F2 PGS REEAEOEEER (80 9.2)

EH AL TSR W {E WAL EIETE AL EEE

¥2 GFI AGFI RMSEA NFI TLI CFI y2/df AIC BIC
58 63.73 097 096 003 097 099 099 133 5958 170.70

(p=.075)
BE pz 05 >90 =90 <.08 >890 >.90 =90 <5 N N

10
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© F{HNE HETsE : (Answer)

3.

emol

v

77

.Hl“,/"" o ‘ 75+
a

Ny

‘ engl ‘ eng2 ‘ [ eng3 |

&F 88 = social support, EMO = emotional management, ENG = work engagement, PER = work performance
RMSEA = .03, GF1= .98, AGFI = .96, NFI = .97, TLI = .99, CFI= .99
*p<.05
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